Urakawa, H.
Osaka J. Math.
12 (1975), 285-297

# THE HEAT EQUATION ON COMPACT LIE GROUP 

Hajime URAKAWA

(Received January 16, 1974)

## Introduction

McKean and Singer [9] posed the problem of the existence of an analogue of the Poisson's summation formula for manifolds other than flat tori. Y. Colin de Verdiere [3] gave an answer to it in the case of a 2-dimensional compact Riemannian manifold with negative sectional curvature.

The purpose of this paper is to determine the Minakshisundaram's expansion (Theorem 3) related to the heat equation and to give an analogue of the Poisson's summation formula of the fundamental solution of this equation on a simply-connected compact semi-simple Lie group (Theorem 2).

The author expresses his gratitude to Prof. K. Okamoto who suggested him to study the Poisson's formula when he obtained Theorem 3.

## 1. Preliminaries

Let ( $M, g$ ) be an $n$-dimensional compact connected orientable Riemannian manifold with the fundamental tensor $g$, and $\Delta$ be the Laplace-Beltrami operator acting on differentiable functions of $M$. Consider the fundamental solution $Z\left(t, m, m^{\prime}\right)$ of the heat equation

$$
\Delta_{x} u(t, x)=\frac{\partial}{\partial t} u(t, x)
$$

Then it satisfies the following facts:
(i) $0<Z\left(t, m, m^{\prime}\right) \in C^{\infty}((0, \infty) \times M \times M)$
(ii) $\frac{\partial Z}{\partial t}=\Delta_{m} Z=\Delta_{m}{ }^{\prime} Z$
(iii) $\lim _{t \rightarrow 0+} \int_{M} Z\left(t, m, m^{\prime}\right) f\left(m^{\prime}\right) d v_{m^{\prime}}=f(m), \quad m \in M$
for every continuous function $f$ on $M$ where $d v_{m^{\prime}}$ is the volume element of $(M, g)$. And also define the trace $Z(t)$ of $Z\left(t, m, m^{\prime}\right)$ as

$$
\begin{equation*}
Z(t)=\int_{M} Z(t, m, m) d v_{m} \tag{1.1}
\end{equation*}
$$

Then it is known (cf. Berger [2]) that there is an asymptotic expansion

$$
\begin{equation*}
Z(t) \widetilde{t \rightarrow 0+} \frac{1}{(4 \pi t)^{n / 2}} \sum_{k=1}^{\infty} a_{k} t^{k} \tag{1.2}
\end{equation*}
$$

and coefficients $a_{k}$ 's are determined as follows. Let ( $y^{1}, \cdots, y^{n}$ ) be the normal coordinate on a neighberhood $V$ about $m \in M$. We put $g_{i j}(y)=g_{y}\left(\left(\frac{\partial}{\partial y^{i}}\right)_{y}\right.$, $\left.\left(\frac{\partial}{\partial y^{j}}\right)_{y}\right)$, and define $c_{0}$ on $V$ by

$$
\begin{equation*}
c_{0}(y)=\left[\operatorname{det}\left(g_{i j}(y)\right)\right]^{-1 / 4}, \tag{1.3}
\end{equation*}
$$

and define $c_{k}(k>0)$ inductively by

$$
\begin{equation*}
c_{k}(y)=c_{0}(y) \int_{0}^{1} \frac{t^{k-1} \Delta c_{k-1}\left(y_{t}\right)}{c_{0}\left(y_{t}\right)} d t \tag{1.4}
\end{equation*}
$$

where $y_{t}$ is the point with normal coordinates $\left(t y^{1}, \cdots, t y^{n}\right)$. Now we define a function $u_{k}$ on $M$ by $u_{k}(m)=c_{k}(0)$. Then it is known that

$$
\begin{equation*}
Z(t, m, m)=\frac{1}{(4 \pi t)^{n / 2}}\left(\sum_{k=0}^{i} u_{k}(m) t^{k}+0\left(t^{i+1}\right)\right) \quad(t \rightarrow 0+) \tag{1.5}
\end{equation*}
$$

and also

$$
\begin{equation*}
a_{k}=\int_{M} u_{k}(m) d v_{m} \tag{1.6}
\end{equation*}
$$

Berger [2], and Sakai [11] have calculated $a_{0}, a_{1}, a_{2}, a_{3}$; more precisely,

$$
\begin{align*}
& a_{0}=\text { volume } M,  \tag{1.7}\\
& a_{1}=\frac{1}{6} \int_{M} \tau(m) d v_{m}, \tag{1.8}
\end{align*}
$$

where $\tau(m)$ is the mean curvature of $M$ at $m$.

## 2. Statements of the main theorem

Now let $M$ be a simply-connected compact semi-simple Lie group and $T$ be a maximal torus in $M$. Let $m$ (resp. $t$ ) be the Lie algebra of $M$ (resp. of $T$ ). Since the Killing form $B$ is negative definite on $\mathfrak{m} \times \mathfrak{m}$, we define and $\operatorname{Ad}(M)$ invariant positive definite inner product (, ) on $\mathfrak{m} \times \mathfrak{m}$ by $(X, Y)=-B(X, Y)$, which induces a Riemannian metric $g$ on $M$ by

$$
\begin{equation*}
g_{m}\left(X_{m}, Y_{m}\right)=(X, Y), \quad X, Y \in \mathfrak{m} \tag{2.1}
\end{equation*}
$$

where $X_{m}, Y_{m}$ are the tangent vectors at $m$ correspoinding to $X, Y$. Let $\Delta$ be the root system of the complexification $\mathfrak{m}^{c}$ of $\mathfrak{m}$ with respect to $t$, i.e. the set of
non-zero elements $\alpha$ of the dual space $\mathrm{t}^{*}$ of t such that $\mathfrak{m}_{\alpha}^{c}=\left\{E \in \mathfrak{m}^{c} ;[H, E]\right.$ $=\sqrt{-1} \alpha(H) E$ for any $H \in t\}$ is not zero. We introduce a lexicographic order $>$ of $\Delta$ and fix it once and for all and let $\Delta^{+}$be the set of all positive roots. Let $\Pi=\left\{\alpha_{1}, \cdots, \alpha_{l}\right\} \quad(l=\operatorname{dim} t)$ be a fundamental system of $\Delta$ with respect to this order $>$. We identify t with $\mathrm{t}^{*}$ under the identification of $\lambda \in \mathrm{t}^{*}$ with $H_{\lambda} \in \mathfrak{t}$, where $H_{\lambda}$ is the unique element $t$ of such that $\left(H_{\lambda}, H\right)=\lambda(H)$ for every $H \in t$.

For $\lambda \in t^{*}(\lambda \neq 0)$, we define

$$
\lambda^{*}=\frac{2}{(\lambda, \lambda)} \lambda, \quad H_{\lambda}^{*}=\frac{2}{(\lambda, \lambda)} H_{\lambda}
$$

Define a lattice $\Gamma$ in $t$ to be the subgroup of $t$ generated by $\left\{2 \pi H_{\alpha}^{*} ; \alpha \in \Delta\right\}$. Then by the simply-connectedness of $M$,

$$
\Gamma=2 \pi \sum_{i=1}^{l} Z H_{a_{j}}^{*}=\{H \in t ; \exp H=e\}
$$

Put

$$
\begin{aligned}
I & =\left\{\lambda \in t^{*} ;\left(\lambda, \alpha^{*}\right) \in Z\right. & & \text { for every } \alpha \in \Delta\} \\
& =\left\{\lambda \in t^{*} ;\left(\lambda, \alpha_{i}^{*}\right) \in Z\right. & & (1 \leq i \leq l)\} .
\end{aligned}
$$

Then $I=\left\{\lambda \in t^{*} ; \lambda(\Gamma) \subset 2 \pi Z\right\}$, i.e. $\frac{1}{2 \pi} \Gamma=\sum_{i=1}^{1} Z H_{a_{j}}^{*}$ is a dual lattice of $I$. Put

$$
\begin{aligned}
D & =\{\lambda \in I ;(\lambda, \alpha) \geqq 0 & & \text { for every } \left.\alpha \in \Delta^{+}\right\} \\
& =\left\{\lambda \in I ;\left(\lambda, \alpha_{i}\right) \geqq 0\right. & & (1 \leq i \leq l\}\}
\end{aligned}
$$

An element of $D$ is called a dominant integral form on $t$. Define $\lambda_{i} \in t^{*}(1 \leq i \leq l)$ by

$$
\left(\lambda_{i}, \alpha_{j}^{*}\right)=\delta_{i j} \quad(1 \leq i, j \leq l)
$$

It follows that

$$
\begin{equation*}
I=\sum_{i=1}^{l} Z \lambda_{i}, \quad D=\left\{\sum_{i=1}^{\prime} m_{i} \lambda_{i} ; m_{i} \in Z, \quad m_{i} \geqq 0 \quad(1 \leq i \leq l)\right\} \tag{2.2}
\end{equation*}
$$

Since an irreducible representation of $M$ is uniquely determined (cf. Serre [13]), up to equivalence, by its highest weight, there exists a bijection from $D$ onto the set of equivalent classes of irreducible representations of $M$. For $\lambda \in D$, let $\chi_{\lambda}$ (resp. $d_{\lambda}$ ) be the trace (resp. the degree) of the irredducible representation with the highest weight $\lambda$. Then it follows (cf. Sugiura [16]) that the eigenvalues of the Laplace-Beltrami operator $\Delta$ with respect to the metric $g(2.1)$ is given by $-(\lambda+2 \delta, \lambda)=-|\lambda+\delta|^{2}+|\delta|^{2}, \lambda \in D$ and its multiplicities are $d_{\lambda}^{2}$ and

$$
\begin{equation*}
\Delta \chi_{\lambda}=-(\lambda+2 \delta, \lambda) \chi_{\lambda} \tag{2.3}
\end{equation*}
$$

where $\delta=\frac{1}{2} \sum_{\alpha \in \Delta^{+}} \alpha$.

Then the following theorem is immediately obtained.
Theorem 1. Let $M$ be a simply-connected compact semi-simple Lie group. Put

$$
\begin{equation*}
Z(t, m)=\sum_{\lambda \in D} d_{\lambda} e^{-(\lambda+2 \delta, \lambda) t} \chi_{\lambda}(m), \quad t>0, m \in M \tag{2.4}
\end{equation*}
$$

Then $Z(t, m)$ is the fundamental solution of the heat equation, that is, the above series is absolutely convergent and it satisfies the following conditions:

$$
\begin{aligned}
& \text { (i) } \frac{\partial}{\partial t} Z\left(t, x y^{-1}\right)=\Delta_{x} Z\left(t, x y^{-1}\right) \\
& \text { (ii) } \lim _{t \rightarrow 0+} \int_{M} Z\left(t, x y^{-1}\right) f(y) d y=f(x)
\end{aligned}
$$

for every continuous function $f$ on $M$. Here dy is the Haar measure of $M$ with total volume 1.

Proof. By means of the inequality $\left|\chi_{\lambda}(m)\right| \leqq d_{\lambda}(m \in M)$, we have

$$
\sum_{\lambda \in D} d_{\lambda} e^{-(\lambda+28, \lambda) t}\left|\chi_{\lambda}(m)\right| \leqq \sum_{\lambda \in D} d_{\lambda}^{2} e^{-(\lambda+28, \lambda) t}=Z(t)
$$

The convergence of $Z(t)$ is shown in Berger [2] (Cor. E. II. 2.). The condition (i) is followed from (2.3). Peter-Weyl's theorem leads the condition (ii).
Q.E.D.

Remark. $\frac{1}{\operatorname{Vol}(M)} Z\left(t, x y^{-1}\right)$ is the fundamental solution in the sense in $\S 1$.
Now consider a summation

$$
\begin{equation*}
\sum_{\gamma \in \Gamma} \pi(\lambda+\gamma) e^{-(1 / 4 t)|\lambda+\gamma|^{2}} \quad\left(\lambda \in t^{*}, t>0\right) \tag{2.5}
\end{equation*}
$$

where $\Gamma$ is identified with a lattice $2 \pi \sum_{i=1}^{\prime} Z \alpha_{i}^{*}$ in $\mathrm{t}^{*}$ and $\pi(\lambda)=\prod_{\alpha \in \Delta^{+}}(\lambda, \alpha), \lambda \in \mathrm{t}^{*}$. Then this is an absolutely convergent series which induces a function $K(t, h)$ on $T$ via the identification $t$ with $t^{*}$.

Then we can state the main theorem as follows.
Theorem 2. Under the assumption of Theorem 1, we have the following Poisson's summation formula:

$$
\begin{equation*}
Z(t, h)=C j(h)^{-1} e^{|\delta|^{2} t}(4 \pi t)^{-(n / 2)} K(t, h) \tag{2.6}
\end{equation*}
$$

for $t>0, h \in T_{r}=\exp t_{r}$, where is $t_{r}$ the set of all regular elements in $t$,

$$
j(h)=\prod_{\alpha \in \Delta^{+}}\left(e^{(\sqrt{-1} / 2) \omega(H)}-e^{-(\sqrt{-1} / 2) a(H)}\right), \quad h=\exp H
$$

and $C=\frac{c}{\pi(\delta)}(2 \pi)^{1+m}(\sqrt{-1})^{m}$. Here $c$ is the constant defined in Lemma 5 and $m$
is the number of the elements of $\Delta^{+}$
Theorem 2 will be proved in $\S 4$.

## 3. Minakshisundaram's expansion

In this section we will calculate the coefficients $a_{k}$ of the Minakshisundaram's expansion (1.2). The situation in $\S 2$ is preserved.

By means of the uniqueness of the fundamental solution of the heat equation, it follows that

$$
Z\left(t, g m, g m^{\prime}\right)=Z\left(t, m, m^{\prime}\right), g, m, m^{\prime} \in M
$$

Together with (1.5), we obtain $u_{k}(m)=u_{k}(e), m \in M$. Hence

$$
\begin{equation*}
a_{k}=\int_{M} u_{k}(m) d v_{m}=u_{k}(e) \operatorname{vol}(M) \tag{3.1}
\end{equation*}
$$

where $d v_{m}$ is the volume element with respect to the Riemannian metric $g$ (2.1). So let $X_{1}, \cdots, X_{n}$ be an orthonormal basis in $m$ with respect to (,). Consider the canonical coordinate $\left(y^{1}, \cdots, y^{n}\right)$ of the first kind with respect to $\left\{X_{i}\right\}_{i=1}^{n}$. Then $c_{0}$ (1.3) is calculated as follows.

Lemma 1. Let $M_{r}$ be the set of all regular elements in $M$. Then $c_{0}$ is a $C^{\infty}$ class function on $M_{r}$, that is,

$$
c_{0}\left(m m^{\prime} m^{-1}\right)=c_{0}\left(m^{\prime}\right), \quad m \in M, m^{\prime} \in M_{r}
$$

Moreover

$$
\begin{equation*}
c_{0}(\exp H)=\prod_{\alpha \in \Delta^{+}} \frac{\alpha\left(\frac{H}{2}\right)}{\sin \alpha\left(\frac{H}{2}\right)}, \quad H \in t_{r} \tag{3.2}
\end{equation*}
$$

Proof. Let $m=\exp X, X \in \mathrm{~m}$ where $X=A d\left(m_{0}\right) H, m_{0} \in M, H \in t_{r}$. Then

$$
\left(\frac{\partial}{\partial y_{i}}\right)_{m}=\exp _{* X}\left(X_{i}\right)
$$

where $\exp _{*_{X}}$ is the differential of the exponential mapping at $X$. Hence from Helgason [7] (p. 256),

$$
\begin{align*}
\operatorname{det}\left(g_{m}\left(\left(\frac{\partial}{\partial y_{i}}\right)_{m},\left(\frac{\partial}{\partial y_{j}}\right)_{m}\right)\right) & =\left(\prod_{\omega \in \Delta} \frac{1-e^{-\sqrt{-1} \alpha(H)}}{\sqrt{-1} \alpha(H)}\right)^{2} \\
& =\left(\prod_{a \in \Delta^{+}} \frac{\sin \frac{1}{2} \alpha(H)}{\frac{1}{2} \alpha(H)}\right)^{4}
\end{align*}
$$

Let $\mathcal{L}(M)$ be the algebra of all two sided-invariant differential operators on $M$ and let $C_{W}^{\infty}\left(T_{r}\right)$ be the set of all $C^{\infty}$ functions invariant under the Weyl group $W$. Then for every element $\Delta \in \mathcal{L}(M)$ there exists a unique element $\Delta \in \operatorname{End}\left(C_{W}^{\infty}\left(T_{r}\right)\right)$ such that $(\Delta f)^{-}=\Delta \bar{f}$ for every $C^{\infty}$ class function $f$ on $M_{r}$ where $f$ is the restriction of $f$ to $T_{r} \quad \Delta$ is called the radial part of $\Delta$.

Let $\left\{H_{1}, \cdots, H_{l}\right\}$ be an orthonormal basis of $t$ with respect to (,). For a function $f$ on $T$, we put $f^{\prime}\left(t_{1}, \cdots, t_{l}\right)=f\left(\exp \left(\sum_{i=1}^{i} t_{i} H_{i}\right)\right)$. Then the following theorem is due to Berezin [1].

Theorem. Let $I(\mathrm{t})$ be the algebra of all polynomial functions on t invariant under $W$. Then
(i) For $P \in I(t)$, the operator

$$
\begin{equation*}
\Delta(P)=\frac{1}{j} P\left(\frac{\partial}{\partial t_{1}}, \cdots, \frac{\partial}{\partial t_{l}}\right) \cdot j \tag{3.3}
\end{equation*}
$$

is the radial part of an element in $\mathcal{L}(M)$. Conversely the radial part of any element in $\mathcal{L}(M)$ is given by (3.3) for some $P \in I(\mathrm{t})$.
(ii) In particular, for the Laplace-Beltrami operator $\Delta$, it follows that

$$
\begin{equation*}
\Delta=\frac{1}{j} P_{0}\left(\frac{\partial}{\partial t_{1}}, \cdots, \frac{\partial}{\partial t_{l}}\right) j \tag{3.4}
\end{equation*}
$$

where $P_{0}\left(\frac{\partial}{\partial t_{1}}, \cdots, \frac{\partial}{\partial t_{l}}\right)=(\delta, \delta)+\Delta_{0}, \Delta_{0}=\sum_{i=1}^{i} \frac{\partial^{2}}{\partial t_{i}^{2}}$.
Lemma 2. Put $\pi(H)=\prod_{\omega \in \Delta^{+}} \alpha(H), H \in \mathrm{t}$. Then
(i) $\pi$ is a skew function on t and each skew polynomial on t is divisible by $\pi$.
(ii) $\Delta_{0} \pi \equiv 0$ on $t$.

Proof. (i) is due to Harish-Chandra [6]. For (ii), $\Delta_{0} \pi$ is divisible by $\pi$ since is skew and since (i) is valid. On the other hand, since the total degree of $\Delta_{0} \pi$ is less than that of $\pi$, we obtain $\Delta_{0} \pi \equiv 0$.
Q.E.D.

Theorem 3. Under the above assumption, we have

$$
Z(t) \widetilde{t \rightarrow 0+}, \frac{\operatorname{vol}(M)}{(4 \pi t)^{n / 2}} e^{\mid 1^{2} t}
$$

Proof. For $h=\exp H, H \in t_{r}$, we have

$$
\left(j \cdot c_{0}\right)(H)=(\sqrt{-1})^{m} \pi(H)
$$

Hence $\Delta_{0}\left(j \cdot c_{0}\right) \equiv 0$. Therefore from the above theorem,

$$
\Delta c_{0}(h)=\frac{1}{j(H)}\left((\delta, \delta)+\Delta_{0}\right)\left(j c_{0}\right)(h)=(\delta, \delta) c_{0}(h)
$$

Hence

$$
c_{1}(h)=c_{0}(h) \int_{0}^{1} \frac{\Delta c_{0}(\exp (t H))}{c_{0}(\exp (t H))} d t=(\delta, \delta) c_{0}(h)
$$

and

$$
c_{2}(h)=c_{0}(h) \int_{0}^{1} \frac{t \Delta c_{0}(\exp t H)}{c_{0}(\exp t H)} d t=\frac{(\delta, \delta)^{2}}{2} c_{0}(h)
$$

Inductively we obtain

$$
c_{n}(h)=\frac{(\delta, \delta)^{n}}{n!} c_{0}(h) .
$$

Therefore $a_{n}=u_{n}(e) \operatorname{vol}(M)=\lim _{\substack{\pi_{n} \rightarrow 0 \\ t_{r}}} c_{n}(\exp H) \operatorname{vol}(M)=\frac{(\delta, \delta)^{n}}{n!} \operatorname{vol}(M)$ Q.E.D.

Remark. In the case of the compact semi-simple Lie group $M$, the Ricci tensor with respect to the Riemannian metric $g$ (2.1) is given by $S(X, Y)=$ $\frac{1}{4}(X, Y)$ for $X, Y \in \mathfrak{m}$, and the mean curvature $\tau(e)$ at $e$ is given by $\tau(e)=$ $\sum_{i=1}^{n} S\left(X_{i}, Y_{i}\right)=\frac{n}{4}$ where $\left\{X_{i}\right\}_{i=1}^{i}$ is an orthonormal basis of $m$. Then the coefficient $a_{1}(1.8)$ is given by $a_{1}=\frac{n}{24} \operatorname{vol}(M)$. On the other hand, from Theorem 3, we get $a_{1}=|\delta|^{2} \operatorname{vol}(M)$. Therefore we have

$$
|\delta|^{2}=\frac{n}{24}
$$

## 4. Poisson's summation formula

In this section we will prove Theorem 2. First of all, we notice the following facts:
(i) $\delta=\lambda_{1}+\cdots+\lambda_{l} \in D$
(ii) $\bigcup_{s \in W}(s(D+\delta)-\delta) \subset I$, (disjoint sum)
(iii) For every $\mu \in I$, there exists a unique element $s \in W$ such that

$$
\mu+\delta \in s(D+\delta)
$$

if $\mu+\delta$ is regular, i.e. $\pi(\mu+\delta) \neq 0$.
Using the Weyl's dimension formula $d_{\lambda}=\frac{\pi(\lambda+\delta)}{\pi(\delta)}$, his trcae formula, that is,

$$
\chi_{\lambda}(h)=\frac{1}{j(h)} \sum_{s \in W} \operatorname{sgn}(s) e^{\sqrt{-1} s(\lambda+\delta)(H)} \quad\left(h=\exp H, H \in \mathrm{t}_{r}\right)
$$

and the above remark, we rewrite $Z(t, h)$ as follows:

$$
\begin{align*}
Z(t, h) & =\frac{e^{|\delta|^{2} t}}{\pi(\delta) j(h)} \sum_{\substack{\lambda \in D \\
s \in W}} \pi(s(\lambda+\delta)) e^{-|\lambda+\delta|^{2} t} e^{\sqrt{-1} s(\lambda+\delta)(H)} \\
& =\frac{e^{|\delta|^{2} t}}{\pi(\delta) j(h)} \sum_{\lambda \in I} \pi(\lambda+\delta) e^{-|\lambda+\delta|^{2} t} e^{\sqrt{-1}(\lambda+\delta)(H)} \\
& =\frac{e^{|\delta|^{2} t}}{\pi(\delta) j(h)} \sum_{\lambda \in I} \pi(\lambda) e^{-|\lambda|^{2} t} e^{\sqrt{-i} \lambda(H)} \tag{4.1}
\end{align*}
$$

Therefore we may prove Poisson's summation formula for the summation in (4.1).

Now for every rapidly decreasing function $f$ on $\mathrm{t}^{*}$, we define a Fourier transform $\tilde{f}$ (cf. Warner [18]) as follows:

$$
\bar{f}(\lambda)=\frac{1}{(2 \pi)^{1 / 2}} \int_{t^{*}} f(\mu) e^{-V-\overline{1}(\lambda, \mu)} d \mu, \quad \lambda \in t^{*}
$$

where the measure $d \mu=d x_{1} \cdots d x_{i}\left(\mu=\sum_{i=1}^{l} x_{i} \lambda_{i}\right)$. For $\alpha \in \Delta$, we define a differential operator $\partial(\alpha)$ (also cf. Warner [18]) as follows:

$$
\partial(\alpha) f(\lambda)=\left[\frac{d}{d s} f(\lambda+s \alpha)\right]_{s=0}
$$

for every differentiable function $f$ on $\mathrm{t}^{*}$. Put

$$
\partial(\pi)=\prod_{\alpha \in \Delta^{+}} \partial(\alpha)
$$

Lemma 3. For every rapidly decreasing function $f$ on $\mathrm{t}^{*}$, we have

$$
\begin{equation*}
(\partial(\pi) f)^{\sim}(\lambda)=(\sqrt{-1})^{m} \pi(\lambda) f(\lambda) \tag{4.2}
\end{equation*}
$$

and

$$
\begin{equation*}
\partial(\pi) \tilde{f}(\lambda)=(-\sqrt{-1})^{m}(\pi \cdot f)^{\sim}(\lambda) \tag{4.3}
\end{equation*}
$$

for $\lambda \in \mathrm{t}^{*}$.
Proof. For $\alpha \in \Delta^{+}$, using integration by parts, we have

$$
\int_{t^{*}} \partial(\alpha) f(\mu) e^{-V=i(\lambda, \mu)} d \mu=\sqrt{-1}(\lambda, \mu) \int_{t^{*}} f(\mu) e^{-V-1(\lambda, \mu)} d \mu
$$

Using this repeatedly, we have the first claim. Differentiating $\tilde{f}$ under the integral sign and noticing the fact such that

$$
\partial(\pi(\lambda)) e^{-V-1(\lambda, \mu)} d \mu=(-\sqrt{-1})^{m} \pi(\mu) e^{-V-1(\lambda, \mu)}
$$

the second assertion is obtained.
Q.E.D.

Lemma 4. Under the above assumption, vee have

$$
\begin{equation*}
\partial(\pi) e^{-(a / 2)|\lambda|^{2}}=(-a)^{m} \pi(\lambda) e^{-(a / 2)|\lambda|^{2}} \tag{4.4}
\end{equation*}
$$

where $a$ is an arbitrary constant.
Proof. For $\alpha \in \Delta^{+}$,

$$
\partial(\alpha) e^{-(a / 2) \mid \lambda 1^{2}}=-a(\lambda, \alpha) e^{-(a / 2)|\lambda|^{2}}
$$

Then we may write

$$
\begin{equation*}
\partial(\pi) e^{-(a / 2)|\lambda|^{2}}=\left((-a)^{m} \pi(\lambda)+P(\lambda)\right) e^{-(a / 2)|\lambda|^{2}} \tag{4.5}
\end{equation*}
$$

where $P(\lambda)$ is a polynomial in $\lambda$ whose total degree is less than that of $\pi$. On the other hand since $(-\sqrt{-1} a)^{-m} \partial(\pi) e^{-(a / 2)|\lambda|^{2}}$ is the Fourier transform of the function $\pi(\lambda) e^{-a / 2|\lambda|^{2}}$ by Lemma 3, the left hand side of (4.5) is a skew function. Hence $P(\lambda)$ is skew since $e^{-(a / 2)|\lambda|^{2}}$ is invariant under $W$. Therefore $P \equiv 0$ from Lemma 2.
Q.E.D.

Lemma 5. For an arbitrary constant a, put $h_{a}(\lambda)=e^{-\left(a /\left.2|\lambda|\right|^{2}\right.}$. Then we have

$$
\tilde{h}_{a}(\lambda)=\frac{c}{a^{i / 2}} e^{-\left(|\lambda|^{2} / 2 a\right)}
$$

where $c$ is the following constant: Let $e_{1}, \cdots, e_{l}$ be an orthonormal basis of $\mathrm{t}^{*}$ with respect to (, ) and let $d \tilde{\mu}=d y_{1} \cdots d y_{l}\left(\mu=\sum_{i=1}^{1} y_{i} e_{i}\right)$ be the Euclidean measure on $\mathrm{t}^{*}$. Then there exists a unique constant $c$ such that

$$
d \mu=c d \tilde{\mu}
$$

Proof. For $\lambda=\sum_{j=1}^{l} x_{i} e_{i} \in t^{*}$, we have

$$
\begin{align*}
\tilde{h}_{a}(\lambda) & =\frac{c}{(2 \pi)^{l / 2} a^{l / 2}} \int_{t^{*}} e^{-\left(\left|\mu^{2}\right| / 2\right)} e^{-V-\overline{1}(\lambda / V \bar{a}, \mu)} d \mu \\
& =\frac{c}{a^{l / 2}} \prod_{j=1}^{i} \frac{1}{\sqrt{2 \pi}} \int_{-\infty}^{\infty} e^{-1 / 2 y_{j}^{2}} e^{-\sqrt{-1}\left(x_{j} / \sqrt{a}\right) \cdot y_{j}} d y_{j} \\
& =\frac{c}{a^{l / 2}} e^{-\left(|\lambda|^{2} / 2 a\right)}
\end{align*}
$$

Lemma 6. Under the assumption of Lemma 5, we have

$$
\begin{equation*}
\left(\pi \cdot h_{a}\right)^{\sim}(\lambda)=c(-\sqrt{-1})^{m} a^{-\pi / 2} \pi(\lambda) e^{-\left(|\lambda|^{2} / 2 a\right)} . \tag{4.6}
\end{equation*}
$$

Proof. $\quad\left(\pi \cdot h_{a}\right)^{\sim}(\lambda)=(-a)^{-m}\left(\partial(\pi) h_{a}\right)^{\sim}(\lambda) \quad$ (by Lemma 3)

$$
\begin{aligned}
& =(-a)^{-m}(\sqrt{-1})^{m} \pi(\lambda) \tilde{h}_{a}(\lambda) \quad(\text { by Lemma 4) } \\
& =c(-\sqrt{-1})^{m} a^{-(n / 2)} \pi(\lambda) e^{-(|\lambda| 2 / 2 a)} \quad \text { (by Lemma 5). }
\end{aligned}
$$

Q.E.D.

Proof of Theorem 2. Since the lattice $I$ is a dual lattice of $\frac{1}{2 \pi} \Gamma$, each character of $\mathrm{t}^{*} / I$ is the form

$$
\lambda \rightarrow e^{\nu \overline{1}(\lambda, \gamma)}
$$

where $\gamma \in \Gamma$.
Now let

$$
\begin{equation*}
\vartheta(t, \nu, \mu)=\sum_{\tau \in I} \pi(\tau-\mu) e^{-t|\tau-\mu|^{2}} e^{2 \pi V-1(\tau, \nu)} e^{-\pi V-1(\nu, \mu)} \tag{4.7}
\end{equation*}
$$

Then

$$
\begin{equation*}
\vartheta\left(t, \frac{\nu}{2 \pi}, 0\right)=\sum_{\tau \in I} \pi(\tau) e^{-t|\tau|^{2}} e^{\nu-1(\tau, \nu)} . \tag{4.8}
\end{equation*}
$$

For $H=H_{\nu}, \nu \in \mathfrak{t}^{*}$, the right hand side of (4.8) is identical with the summation in (4.1).

On the other hand, consider

$$
\begin{equation*}
\vartheta(t, \nu, \mu) e^{-\pi t(\%, \mu)}=\sum_{\tau \in T} \pi(\tau-\mu) e^{-t|\tau-\mu|^{2}} e^{2 \pi \nu-\overline{1}(\tau-\mu, \nu)} \tag{4.9}
\end{equation*}
$$

which is periodic in $\mu \bmod I$. Therefore

$$
\text { the right hand side of }(4.9)=\sum_{\gamma \in \Gamma} c_{\gamma} e^{\gamma-1(\mu, \gamma)}
$$

where

$$
\begin{aligned}
& c_{\gamma}=\int_{\mathrm{t}^{*} \mid I} \sum_{\tau \in \mathrm{I}} \pi(\tau-\mu) e^{-t|\tau-\mu|^{2}} e^{2 \pi V-1(\tau-\mu, \nu)} e^{-\nu-\overline{1}(\mu, \gamma)} d \mu \\
& \left.=\int_{\mathbf{t}^{*}} \pi(\mu) e^{-\left.t| |^{2}\right|^{2}} e^{2 \pi / \overline{-1}(\mu, \gamma)} e^{-\nu-\overline{1}(\mu, \nu)} d \mu \quad \text { (by } e^{\nu \overline{-1}(\tau, \gamma)}=1, \tau \in I, \gamma \in \Gamma\right) \\
& =\int_{\mathrm{t}^{*}} \pi(\mu) e^{-t \mid \mu)^{2}} e^{-V-\overline{1}(\mu,-(2 \pi \gamma+\gamma)} d \mu \\
& =(2 \pi)^{1 / 2} c(-\sqrt{-1})^{m}(2 t)^{-\pi / 2} \pi(-(2 \pi \nu+\gamma))^{-([2 \pi \nu+\gamma(2) / 4 t} \quad \text { (by Lemma 6) } \\
& =c(\sqrt{-1})^{m}(2 \pi)^{l / 2}(2 t)^{-\pi / 2} \pi(2 \pi \nu+\gamma) e^{-\left(12 \pi \nu \nu \gamma l^{2}\right) / 4 t} \text {. }
\end{aligned}
$$

Therefore we have

$$
\vartheta(t, \nu, \mu)=\frac{(2 \pi)^{t / 2} c(\sqrt{-1})^{m}}{(2 t)^{n / 2}} \sum_{\gamma \in \Gamma} \pi(2 \pi \nu+\gamma) e^{-(|2 \pi \nu \nu \gamma| 2) / \mu t} e^{\pi V-\overline{1}(\nu, \mu)} .
$$

Together with (4.1), we obtain for $h_{\nu}=\exp H_{\nu}$,

$$
\begin{aligned}
Z\left(t, h_{\nu}\right) & =\frac{e^{|\delta|^{2} t}(2 \pi)^{t / 2} c(\sqrt{-1})^{m}}{j\left(h_{\nu}\right) \pi(\delta)(2 t)^{\pi / 2}} \sum_{\gamma \in \Gamma} \pi(\nu+\gamma) e^{-\left(|\nu+\gamma|^{2}\right) / 4 t} \\
& =\frac{C e^{|\delta|^{2} t}}{j\left(h_{\nu}\right)(4 \pi t)^{\pi / 2}} \sum_{\gamma \in \Gamma} \pi(\nu+\gamma) e^{-\left(|\gamma \cdot \gamma|^{2}\right) / 4 t}
\end{aligned}
$$

where $C=\frac{(\sqrt{-1})^{m} c(2 \pi)^{2 / 2}(4 \pi)^{n / 2}}{\pi(\delta) 2^{n / 2}}=\frac{c}{\pi(\delta)}(2 \pi)^{l+m}(\sqrt{-1})^{m}$.
Q.E.D.

Remark. From theorem 2, we obtain

$$
\begin{aligned}
Z(t) & =\lim _{h_{\nu} \in T_{r} \rightarrow e} Z\left(t, h_{\nu}\right) \\
& =C \frac{e^{|8|^{2} t}}{(4 \pi t)^{n / 2}} \lim _{\nu \in t_{r} \rightarrow 0}\left(\frac{1}{j\left(h_{\nu}\right)} \sum_{\gamma \in \Gamma} \pi(\nu+\gamma) e^{-\left(|\nu+\gamma|^{2}\right) / 4 t}\right) \underset{t \rightarrow 0+}{ } C \frac{e^{|\delta|^{2 t}}}{(4 \pi t)^{n / 2}}(-\sqrt{-1})^{m} .
\end{aligned}
$$

Together with theorem 1 and the equality $C=\frac{c}{\pi(\delta)}(2 \pi)^{l+m}(\sqrt{-1})^{m}$, we have

$$
\operatorname{vol}(M)=\frac{c}{\pi(\delta)}(2 \pi)^{l^{+m}}
$$

where the constant $c$ is calculated as follows:

$$
c=\operatorname{vol}\left(\mathrm{t}^{*} / I\right)^{-1}=\operatorname{vol}\left(\mathrm{t} / \frac{1}{2 \pi} \Gamma\right)=\sqrt{\operatorname{det}\left(\left(\alpha_{i}^{*}, \alpha_{j}^{*}\right)\right)_{1 \leq i, j \leq l}}=2^{i / 2} \frac{\sqrt{D}}{\prod_{i=1}^{i}\left|\alpha_{i}\right|}
$$

Here $D=\operatorname{det}\left(-a_{i j}\right), a_{i j}=-\frac{2\left(\alpha_{i}, \alpha_{j}\right)}{\left(\alpha_{j}, \alpha_{j}\right)}$ (Cartan's integer).
Another proof of Theorem 2. Since the right hand side of (2.6) is a $W$ invariant function in $h$, it can be extended as a class function $\tilde{Z}(t, m)$ in $m$ on $\boldsymbol{R}_{+}^{\boldsymbol{*}} \times M_{r}$. Therefore we may compare both Fourier transforms on $M$.

From the orthogonal relation of characters, we have

$$
\begin{equation*}
\frac{1}{d_{\lambda}} \int_{M} Z(t, m) \overline{\chi_{\lambda}(m)} d m=e^{-(\lambda+2 \delta, \lambda) t}, \quad \lambda \in D \tag{4.9}
\end{equation*}
$$

On the other hand, from a Weyl's integral formula for a class function, we obtain

$$
\begin{equation*}
\frac{1}{d_{\lambda}} \int_{M} \tilde{Z}(t, m) \overline{\chi_{\lambda}(m)} d m=\frac{1}{d_{\lambda} w} \int_{T}|j(h)|^{2}\left(C \frac{e^{|\delta|^{2}}}{(4 \pi t)^{\pi / 2}} \frac{K(t, h)}{j(h)}\right) \bar{\chi}_{\lambda}(h) d h \tag{4.10}
\end{equation*}
$$

where $d h$ is the Haar measure on $T$ with total volume 1 and $w$ is the order of $W$. By means of Weyl's character formula,

$$
\begin{align*}
(4.10) & =\frac{C e^{|\delta|^{2} t}}{d_{\lambda} v(4 \pi t)^{\pi / 2}} \sum_{s \in W} \operatorname{sgn}(s) \int_{T} K(t, h) e^{V-1 s(\lambda+\delta)(-H)} d h \\
& =\frac{C e^{|\delta|^{2} t}}{d_{\lambda}(4 \pi t)^{\pi / 2}} \int_{T} K(t, h) e^{\nu-1(\lambda+\delta)(-H)} d h . \tag{4.11}
\end{align*}
$$

Consider the measure $d \bar{\mu}=d x_{1} \cdots d x_{i}\left(\mu=2 \pi \sum_{i=1}^{i} x_{i} \alpha_{i}^{*}\right)$ on $t^{*}$, then $d \bar{\mu}$ induces the above measure $d h$ on $T$. Therefore the integral in (4.11) is given as follows:

$$
\begin{align*}
& \int_{t^{*} / \Gamma} \sum_{\gamma \in \Gamma} \pi(\mu+\gamma) e^{-\left(\left.|\mu+\gamma|\right|^{2}\right) / \Delta t} e^{-\nu-\overline{1}(\lambda+\delta, \mu)} d \bar{\mu} \\
= & \int_{t^{*}} \pi(\mu) e^{-\left(\mid \mu^{2} / 4 t\right)} e^{-\gamma-1}(\lambda+\delta, \mu)  \tag{4.12}\\
& \bar{\mu} .
\end{align*}
$$

Here let $d \mu$ be the measure on $t^{*}$ defined before Lemma 3, then from the above Remark, we have

$$
\operatorname{vol}\left(\mathrm{t}^{*} / I\right) d \mu=\operatorname{vol}(\mathrm{t} / \Gamma) d \bar{\mu},
$$

and then $d \bar{\mu}=\frac{1}{(2 \pi)^{l} c^{2}} d \mu$. Therefore

$$
\begin{aligned}
(4.12) & =\frac{1}{(2 \pi)^{2 / 2} c^{2}}\left(\pi \cdot h_{a}\right)^{\sim}(\lambda+\delta) \quad\left(a=\frac{1}{2 t}\right) \\
& =\frac{1}{(2 \pi)^{1 / 2} c^{2}} c(-\sqrt{-1})^{m}\left(\frac{1}{2 t}\right)^{-n / 2} \pi(\lambda+\delta) e^{-|\lambda+\delta|^{2} t} \\
& =\frac{\pi(\lambda+\delta)}{c(\sqrt{-1})^{m}(2 \pi)^{m+l}}(4 \pi t)^{n / 2} e^{-|\lambda+\delta|^{2} t}
\end{aligned}
$$

Therefore (4.10) coincides with (4.9).
Q.E.D.

Nagoya University

## Refesences

[1] F.A. Berezin: Laplace operators on semi-simple Lie groups, Trudy Moskov. Mat. Obsc. 6 (1957), 371-463.
[2] M. Berger, P. Gauduchon and E. Mazet: Le Spectre d'une Variété Riemannienne, Lecture notes in Math. 194, Springer Verlag, 1971.
[3] Y. Colin de Verdiere: Spectre du laplacien et longueurs des géodésiques periodiques, C.R.Acad. Sci. Paris 205A (1972), 805-808.
[4] M. Eichler: Introduction to the Theory of Algebraic Numbers and Functions, Academic Press, New York, 1966.
[5] R. Gangolli: Asymptotic behaviour of spectra of compact quotients of certain symmetric spaces, Acta Math. 121 (1968), 151-192.
[6] Harish-Chandra: Spherical functions on a semi-simple Lie group I, Amer. J. Math. 80 (1958), 241-310.
[7] S. Helgason: Differential Geometry and Symmetric Spaces, Academic Press, New York, 1962.
[8] H.P. McKean: Selberg's tract formula as applied to a compact Riemann surface, Comm. Pure Appl. Math. 25 (1972), 225-246.
[9] _-_ and I.M. Singer: Curvature and the eigenvalues of the Laplacian, J. Differential Geometry 1 (1967), 43-69.
[10] S. Minakshisundaram and A. Pleijel: Some properties of the eigenfunctions of the Laplace operator on Riemannian manifolds, Canad. J. Math. 1 (1949), 242-256.
[11] T. Sakai: On eigenvalues of laplacian and curvature of Riemannian manifold, Tôhoku Math. J. 23 (1971), 589-603.
[12] A. Selberg: Harmonic analysis and discontinuous groups in weakly symmetric Riemannian spaces with applications to Dirichlet series, J. Indian Math. Soc. 20 (1956), 47-87.
[13] J.P. Serre: Algèbres de Lie Semi-simples Complexes, W.A. Benjamin, New York, 1966.
[14] M. Sugiura: Spherical functions and representation theory of compact Lie groups, Sci. Papers College Gen. Ed. Univ. Tokyo 10 (1960), 187-193.
[15] -: Repersentations of compact groups realized by spherical functions on symmetric spces, Proc. Japan Acad. 38 (1962), 111-113.
[16] -: Fourier series of smooth functions on compact Lie groups, Osaka J. Math. 8 (1971), 333-47.
[17] T. Tamagawa: On Selberg's trace formula, J. Fac. Sci. Univ. Tokyo Sect I. 8 (1960), 363-386.
[18] G. Warner: Harmonic Analysis on Semi-simple Lie Groups I, II, Grundl. Math. Wiss. Bd. 188, 189, Springer-Verlag, 1972.

